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26 Practice Paper 1B



In questions 1–4, choose the two words, one from each group, that will help the sentences 
make sense. 

Mark both words on the answer sheet on page 38. 

Volcano is to (boiling  red  rock) as iceberg is to (float  frozen  Arctic).

A 	 boiling

B 	 red

C 	 rock

X 	 float

Y 	 frozen

Z 	 Arctic

1

A pyramid is to (triangular  Egypt  tomb) as brick is to (house  rectangular  cement).

A 	 triangular

B 	 Egypt

C 	 tomb

X 	 house

Y 	 rectangular

Z 	 cement

2

Ant is to (busy  tiny  black) as gorilla is to (silverback  fur  huge).

A 	 busy

B 	 tiny

C 	 black

X 	 silverback

Y 	 fur

Z 	 huge

3

Cautious is to (lazy  wary  polite) as reckless is to (careful  impulsive  relaxed). 

A 	 lazy

B 	 wary

C 	 polite

X 	 careful

Y 	 impulsive

Z 	 relaxed

4

Example: 	 Short is to (tall  happy  green) as low is to (table  red  high).

	

A 	 tall

B 	 happy

C 	 green

X 	 table

Y 	 red

Z 	 high

Answer: 	 tall  high

Solution: 	 Tall is the antonym of short. High is the antonym of low.
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